ABB BK
Arosserien 7 2:a

IMP over faltet, 22 bord, 44 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 302 3.48 Lennart Fredriksson - Rainer Trapp 9424 36579
2 101 1.98 Hans Thorgren - Jan Fredell 7926 3967
3 205 1.90 Hakan Lindb&ck - Bengt Nilsson 2658 18043
4 206 1.88 Peter Bjornberg - Mikael Engvall 50796 49662
5 107 1.62 Lars Rydman - Birgitta Kerstis 17814 28264
6 3 0.98 Tomas Bérgesson - Claes Ahgren 1073 2664
7 304 0.89 Per Eriksson - Hakan Lindh 19493 6055
8 108 0.82 Jan Dellve - Leif Rick 92586 87414
9 105 0.76 Zenon Grajek - Conny Wahlgren 11752 10733
10 106 0.76 Rolf Forsberg - Lotta Engvall 13471 49663
11 208 0.64 Rolf Andersson - Lennart Karlsson 87449 2871
12 2 0.56 Fredrik Mirhag - Tommy Petersson 15818 12924
13 4 0.46 Anders Lovling - Géran Rangevall 18166 2876
14 103 0.40 Benny Karlsson - Mikael Eliasson 9893 63
15 1 0.37 Dan Johansson - Bo Wiker 8042 4014
16 7 0.07 Boris Johansson - Eva Masser 40752 55753
17 207 -0.07 Erik Lindel6f - Gunnar Wilén 3973 42658
18 201 -0.37 Nils Almgren - Lars-Erik Strand 3959 3985
19 303 -0.40 Christer Stenberg - Stefan Andersson 3984 13753
20 204 -0.46 Lars Marjoniemi - Jérgen Lundberg 14508 7657
21 202 -0.56 Lennart Ekholm - Christer Astrém 50946 38022
22 8 -0.64 Mats Bodén - Per-Erik Eriksson 80071 23457
23 306 -0.76 Agneta Akerlund - Karl-Erik Akerlund 7895 7894
24 305 -0.76 Leo Skogsholm - Kjell Eklund 3386 51491
25 308 -0.82 Solveig Bystrém - Nils Andersson 57019 3543
26 104 -0.89 Johnny Ramsten - Tommy Lindstrém 90802 38791
27 203 -0.98 Per-Ake Jansson - Kent Roxberg 2714 2703
28 307 -1.62 Bosse Palo - Jonny Mattsson 56254 65947
29 6 -1.88 Birgitta Weber - Lennart Weber 84880 84881
30 5 -1.90 Hans Jonsson - Helena Lindholm 85132 49544
31 301 -1.98 Ake Fransson - Mats Andersson 7976 17949
32 102 -3.48 Asa Andersson - Maria Grén 7928 28267
33 9 0.00 - - -
33 10 0.00 - - -
33 11 0.00 - - -
33 109 0.00 - - -
33 110 0.00 - - -
33 111 0.00 - - -
33 209 0.00 - - -
33 210 0.00 - - -
33 211 0.00 - - -
33 309 0.00 - - -
33 310 0.00 - - -
33 311 0.00 - - -
13 4 EKN10942 Basta kontrakt 14 492 Basta kontrakt 15 4 D32 Basta kontrakt
Nord v 9532 34 N =140 Ost v383 4¢ SD-1-100 Syd v DKn2 34 VD-1100
Alla ¢ Kn Ingen + KD754 NS +ED
#K5 & ¢ v & NT #E1093 & ¢ v & NT #76542 & ¢ v & NT
487 4~ K6 N38394 4E1074 4 D865 N6 9 446 4 E854 4 KKn976 N9 6 956
v EK76 v DKn108 S 38394 vD4 YEKKN762 S 6 9 4 4 6 v K95 vE8 S 96 956
+ 108 47643 094936 + 106 ¢+ Kn8 06 4997 410874 4532 046 487
#DKn1092 #E87 V94936 #KD864 #5 V64997 #Kn3 «D108 V464287
« D53 & KKn3 410
v4 v 1095 v 107643
+ EKD952 ¢ E932 + KKn96
%643 *Kn72 #EK9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
107 307 44 N+1 #A 650 156.0 -156.0 3 203 44 V-2 ¢K 100 47.0 -470 1201 2vS+1 &A 140 44.0 -440
101 301 44 N= vQ 620 141.0 -141.0 {103 303 44 V-2 ¢K 100 470 -470| 4 204 3vS= vJ 140 440 -440
105 305 44 N= &A 620 141.0 -141.0 (104 304 44 V-2 ¢K 100 47.0 -47.0| 7 207 3v S= 4A 140 440 -440
106 306 34 N+2 #A 200 28.0 -28.0(108 308 44 V-2 ¢K 100 47.0 -47.0|102 302 3v S= &J 140 44.0 -440
1201 24 N+1 vJ 140 50 -5.0 1201 49 0-1 +A 50 20.0 -20.0(104 304 3v S= ¢7 140 440 -440
5205 24 N+1 vQ 140 50 -5.0| 2202 4e4V-1 ¢K 50 20.0 -20.0(108 308 3v S= ¢8 140 440 -44.0
7 207 24 N+1 vQ 140 50 -5.0| 5205 44V-1 ¢K 50 20.0 -20.0(106 306 3« N= vA 110 28.0 -28.0
8 208 34 N= vQ 140 50 -5.0| 6206 4v0O-1 v5 50 20.0 -20.0 (105 305 34 V-2 &A 100 28.0 -28.0
102 302 24 N+1 vJ 140 50 -5.0| 8208 44 V-1 ¢K 50 20.0 -20.0| 5205 34 O-1 #A 50 20 -20
104 304 34 S= vQ 140 50 -5.0|101 301 4v O-1 «T 50 20.0 -20.0({101 301 34 O-1 #A 50 20 -20
2 202 44 N-1 vJ -100 -77.0 77.0|107 307 4v O-1 +A 50 20.0 -20.0 ({103 303 Pass -170 17.0
3 203 44 N-1 vQ -100 -770 770(| 7 207 2vV= ¢K -110 -390 39.0| 2202 4vS-1 #J -100 -540 54.0
4 204 44 N-1 vQ -100 -77.0 77.0(105 305 24 V= K -110 -39.0 39.0| 3 203 4vS-1 #9 -100 -540 54.0
6 206 44 N-1 vQ -100 -77.0 77.0| 4 204 3vO= ¢K -140 -540 540| 8 208 4vS-1 4A -100 -540 54.0
103 303 44 N-1 vQ -100 -77.0 77.0(106 306 2v O+1 ¥T -140 -54.0 54.0|107 307 4v S-1 44 -100 -540 54.0
108 308 44 N-2 vQ -200 -111.0 111.0|102 302 4v O= &2 -420 -142.0 1420| 6 206 5v S-2 #J -200 -91.0 910
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16 4 ED108 Basta kontrakt 17 4 D8764 Basta kontrakt 18 4 DKn10984 Basta kontrakt
Vast v Kn762 44 N =420 Nord v K104 34 OD-1100 Ost v2 5& O D -1100
ov + Kn97 Ingen + KKn10 NS + E87
&#EK & ¢ v & NT &E8 & ¢ v & NT »765 & ¢ v & NT
4« Kn9 473 N7 55 108 « KKn1092 & E53 N6 8956 .- a- N 3 3 3 109
vD10854 ¥E93 S7 55 108 vKn75 vE6 S689565 vD98763 ¥ EKn54 S 33 3 109
¢ EK852 41043 06 88 35 *7 496432 O7 5484 +D10943 ¢ K52 O 1010103 4
»8 #DKn1097 V 6 8 8 3 5 #D1062 #KKn5 V65484 #103 #EDKn842 V 1010103 4
& K6542 a- & EK76532
vK v D9832 v K10
+ D6 + ED85 + Kn6
#65432 #9743 *K9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 202 44 N= #Q 420 87.0 -87.0|108 308 3NN= 2 400 121.0 -121.0 3 203 44 S= &3 620 146.0 -146.0
101 301 44 S= ¢A 420 87.0 -87.0|106 306 2¢ O-3 v2 150 35,0 -35.0| 4 204 44 S= v7 620 146.0 -146.0
106 306 44 N= &Q 420 87.0 -87.0|107 307 2NN +1 2 150 35.0 -35.0(107 307 44 S= &T 620 146.0 -146.0
108 308 44 N= vA 420 87.0 -87.0 1201 3vyS= ¢7 140 33.0 -33.0|108 308 7vDV-3 ¢A 500 124.0 -124.0
104 304 4v O-4 &4 400 79.0 -79.0 6 206 2v S+1 7 140 33.0 -33.0 1201 6v O-2 &A 100 70 -7.0
4 204 24 N+2 #Q 170 -2.0 2.0 7 207 3y S= 7 140 33.0 -33.0 7 207 6vDV-1 «Q 100 70 -7.0
8 208 24 N+2 vA 170 -2.0 2.0 8 208 3y S= 7 140 33.0 -33.0|104 304 5¢vDV-1 ¢A 100 70 -7.0
105 305 24 N+2 #Q 170 -2.0 2.0(101 301 2v S+1 7 140 33.0 -33.0 5205 6vy V-1 «Q 50 -11.0 11.0
107 307 34 S+1 v5 170 -2.0 2.0 2 202 34DV-1 ¢T 100 15.0 -15.0|103 303 6v V-1 ¢A 50 -11.0 11.0
1 201 24 N+1 #J 140 -17.0 17.0| 4 204 2¢ O-2 2 100 15.0 -15.0 2 202 54 S-1 &T -100 -58.0 58.0
102 302 24 N+1 #Q 140 -17.0 17.0 (102 302 INS-1 &7 -50 -41.0 41.0 8 208 54 S-1 &T -100 -58.0 58.0
103 303 34 S= ¢K 140 -17.0 170 3203 INS-2 #2 -100 -61.0 61.0(105 305 54 S-1 3 -100 -58.0 58.0
3 203 44 N-1 #Q -50 -87.0 87.0({103 303 14 N-2 ¢2 -100 -61.0 61.0|106 306 54 S-1 &A -100 -58.0 58.0
6 206 SNN-1 3 -50 -87.0 87.0(104 304 4v S-2 #6 -100 -61.0 61.0 6 206 64 N-2 &#A -200 -91.0 91.0
7 207 44 N-1 #Q -50 -87.0 87.0 5205 24 N-3 ¢2 -150 -81.0 81.0|101 301 64DS-1 T -200 -91.0 910
5205 2vVvV= &A -110 -107.0 107.0|105 305 INV+2 46 -150 -81.0 81.0(102 302 5# O= &A -400 -147.0 147.0
19 a2 Bésta kontrakt 20 s E7 Bésta kontrakt 21 4 Kn10975 Bésta kontrakt
Syd v K986 34 S =140 Vast vE3 5NT S =660 Nord v 96 5v O =-450
oV + K104 Alla + KKn10854 NS 410932
#ED873 & ¢ v & NT *K107 & ¢ v & NT *75 & ¢ v & NT
4384 & KD653 N 105 9 9 7 494 4DKn10852 N 8 106 6 10 | 4D4 48 N17 273
v ED52 v 103 S 105 9 9 7 vKKn108742 v6 S 8 116 6 11 | vEDS83 v 10742 S27 283
¢ EDKn953 ¢ 762 037 444 2 ¢ 96 042772 ¢- ¢ ED875 O 116 114 8
*6 #Kn105 V 37 4 4 4 | «EDKn #9432 V42772 #EKn109842 #KD3 V 116 114 8
» EKNn1097 & K63  EK632
v Kn74 v D95 v KKn5
+8 ¢+ ED73 + KKn64
#K942 #865 *6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
106 306 5¢ V-3 42 300 99.0 -99.0 2 202 3NS+2 «T 660 122.0 -122.0 6 206 44V +1 &J -150 94.0 -94.0
1201 3#S+2 48 150 440 -440| 4 204 3NN+2 v6 660 122.0 -122.0 7 207 34V +3 #J -170 89.0 -89.0
8 208 44 N+1 &K 150 440 -44.0(103 303 3NN+2 v6 660 122.0 -122.0| 3 203 5#V= ¢T -400 30 -30
2 202 34 N+1 &3 130 32.0 -32.0 3203 3NS+1 &2 630 110.0 -110.0 8 208 54V= 4J -400 3.0 -30
101 301 44 N= &K 130 320 -32.0(101 301 3NN+1 4Q 630 110.0 -110.0 |104 304 5« V= 4J -400 3.0 -3.0
103 303 44 N= +3 130 32.0 -32.0(108 308 3NN+1 «Q 630 110.0 -110.0 |106 306 5# V= 4J -400 30 -30
105 305 44 N= ¢7 130 32.0 -32.0|107 307 4v V-3 &4A 300 21.0 -21.0|108 308 54V = 4J -400 3.0 -30
107 307 4# N= ¢7 130 32.0 -32.0 1201 4¢ N= v6 130 -34.0 34.0|101 301 54 V+1 «J -420 -120 12.0
6 206 3« N= ¢2 110 23.0 -23.0 5205 4¢ N= 6 130 -34.0 34.0|105 305 4v V= &J -420 -12.0 120
3203 3¢ V-1 42 100 20.0 -20.0 6 206 2v V-1 «A 100 -43.0 43.0|107 307 54V +1 «J -420 -12.0 12.0
7 207 2¢ V-1 42 100 20.0 -20.0 7 207 5¢ N-1 6 -100 -101.0 101.0 1201 4vV+1 «J -450 -270 27.0
5205 4¢vy N-2 +2 -100 -54.0 54.0 8 208 5¢ N-1 +6 -100 -101.0 101.0 2202 49y O+1 «A -450 -27.0 27.0
102 302 3¢ V= 42 -110 -55.0 55.0|102 302 5¢ N-1 6 -100 -101.0 101.0( 4 204 4v O+1 &K -450 -27.0 27.0
4 204 2¢ V+2 8 -130 -640 64.0(104 304 5¢ S-1 49 -100 -101.0 101.0 5205 4vV+1l «J -450 -27.0 27.0
104 304 2¢ V+2 42 -130 -64.0 64.0|105 305 5¢ N-1 6 -100 -101.0 101.0 {102 302 4v V+1 4J -450 -27.0 27.0
108 308 2¢DV +2 42 -580 -173.0 173.0|106 306 5¢ N-1 6 -100 -101.0 101.0 {103 303 4v O+1 &A -450 -27.0 27.0
22 462 Basta kontrakt 23 4 KDKn6 Basta kontrakt 24 4 Kn763 Basta kontrakt
Ost v D9653 34 O =-140 Syd v 85 3NT S =600 Vast v 985 34 N =140
ov ¢ EKn7 Alla + Knl0 Ingen + ED95
#KD6 & ¢ v & NT #E8432 & ¢ v & NT «109 & ¢ v & NT
«D9875 & E4 N6 3745 # E853 1094 N9 106 7 9 aD & K942 N487 97
vE2 v K87 S6 3745 vDKn104 vK9763 S 9 106 7 9 v10 v DKn764 S48797
¢ 10965 ¢ KD83 O7 96 98 ¢85 +D9 042652 ¢ KKn872 ¢4 0855 44
£92 #E753 V796938 #KKn5 &D76 V426052 #D86542 #E73 V85544
# KKn103 a72 4 E1085
v Kn104 vE2 v EK32
¢ 42 ¢ EK76432 + 1063
+Kn1084 «109 #KKn
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
105 305 2N O-3 vJ 300 139.0 -139.0 2202 3NS= +vQ 600 127.0 -127.0|105 305 3NS= ¢T 400 123.0 -123.0
106 306 2¢v N= &A 110 76.0 -76.0| 3 203 3NS= ¢Q 600 127.0 -127.0|101 301 4#D O-2 46 300 91.0 -91.0
107 307 3y N-1 &A -50 23.0 -23.0|103 303 3NS= v6 600 127.0 -127.0 1201 24 N+2 vJ 170 48.0 -48.0
103 303 3#S-2 vA -100 -6.0 6.0 7 207 4v O-3 A 300 28.0 -28.0| 4 204 INS+2 &5 150 36.0 -36.0
8 208 24 O= &J -110 -8.0 8.0 1201 2¢ S+3 vJ 150 -33.0 33.0 7 207 3¢ V-3 43 150 36.0 -36.0
108 308 24 O= #J -110 -8.0 80| 4 204 3¢ S+2 vQ 150 -33.0 33.0 8 208 INS+2 7 150 36.0 -36.0
2202 2NO= +vJ -120 -9.0 9.0 6 206 3¢ S+2 vQ 150 -33.0 33.0 3203 2NS= «Q 120 26.0 -26.0
1201 24 V+1 v6 -140 -23.0 230 8 208 3¢ S+2 vQ 150 -33.0 33.0(106 306 INS+1 &5 120 26.0 -26.0
3203 24 O+1 vJ -140 -23.0 23.0|101 301 3¢ S+2 vQ 150 -33.0 33.0 5205 440-2 «A 100 140 -14.0
4 204 24 O+1 &6 -140 -23.0 23.0(102 302 3¢ S+2 vQ 150 -33.0 33.0|103 303 34 S-1 T -50 -40.0 40.0
5205 24 O+1 #J -140 -23.0 23.0|104 304 3¢ S+2 vQ 150 -33.0 33.0(107 307 34 N-1 ¢4 -50 -40.0 40.0
6 206 24 O+1 ¢4 -140 -23.0 23.0|105 305 3¢ S+2 vQ 150 -33.0 33.0 6 206 24 V+1 &T -110 -63.0 63.0
7 207 24 O+1 #J -140 -23.0 23.0|106 306 2¢ S+3 48 150 -33.0 33.0|104 304 3#V= v9 -110 -63.0 63.0
101 301 24 O+1 vJ -140 -23.0 23.0|107 307 3¢ S+2 ¢Q 150 -33.0 33.0(108 308 3« O= vA -110 -63.0 63.0
102 302 24 V+1 ¥3 -140 -23.0 23.0|108 308 3¢ S+2 vQ 150 -33.0 33.0 2 202 34 N-3 3 -150 -780 78.0
104 304 24 V+1 ¢A -140 -23.0 230 5205 3¢ S+1 vQ 130 -46.0 46.0(102 302 INV+3 46 -180 -89.0 89.0
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